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2.

(a)  Show, by counter-example, that the statement
sin36 = 4sin@ — 3sin*@
is false. 2]
(b)  Find all values of 6 in the range 0° < 8 < 360° satisfying

secO=1—2tan’6. [6]
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2.

(a) Show, by counter-example, that the statement
2tanf
1+tan’@
is false. 2]

tan26 =

(b)  Find all values of 0in the range 0° < 6 < 360° satisfying

2sec’0 = 8 — tanf. [6]
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(a)  Show, by counter-example, that the statement
c0s26 = 2cos’0 — sin*6
is false. 2]
(b)  Find all values of 6 in the range 0° < 6 < 360° satisfying

3tan’0 =7 + sech. [6]
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2.

(a)  Show, by counter-example, that the statement
cos6 + cos30=2cos260cos40
is false. 2]
(b)  Find all values of 6 1in the range 0° < 0 < 360° satistying

cot’@ — 9 = cosech— cosec?6. [6]
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(a)

(D)

Show, by counter-example, that the statement
sin46 = 4sin’ 6 — 3sin6
is false. 2]
Find all values of 6in the range 0° < 6 < 360° satisfying
3sec?0=7 - 11tan 6.

Give your answers correct to one decimal place. [6]
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2.

(a)  Show, by counter-example, that the statement
cosO + cos40 = cos20 + cos30
is false. 2]
(b)  Find all values of 6 1in the range 0° < 0 < 360° satistying

2tan’6 = sec O+ 8. [6]
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2.

(a)  Show, by counter-example, that the statement
sec’ 0 =1- cosec’
is false. [2]
(b)  Find all values of 6 in the range 0° < 0 < 360° satisfying

3cosec?@ = 11-2cotf . [6]
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2. Find all values of 6 in the range 0° < 6 < 360° satisfying

2cosec’6 + 3cot? 6 + 4cosecd = 9. [6]
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2.

(a)  Show, by counter-example, that the statement
sin(@ + ¢) =sinf + sin ¢

is false. 2]

(b) Find all values of @ in the range 0°< 0 <360°satisfying

sec20+ 8 = 4tan? 6 + S5sech. [6]
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(a)  Show, by counter-example, that the statement
‘If cos @ = cos¢ then sin@ = sing’
is false. 2]
(b)  Find all values of 6 in the range 0° < 6 < 360° satisfying

13 tan’6 = 5 sec’® + 6 tanb. [6]
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2.

(a) (i) Show, by counter-example, that the statement
cos’9=1-sin’0

is false.

(i)  Write down a value of 6 which does satisfy the equation
cos’0=1-sin’8. [3]

(b)  Find all values of @in the range 0° < 6 < 360° satisfying
4cosec? =9 — 8coté. [6]
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2. (a) Find all values of 8in the range 0° < 8 < 360° satisfying

4cot?0 — 8 =2 cosec?d — 5 cosech. [6]

(b) Find all values of ¢in the range 0° < ¢ < 360° satisfying

sec¢ + 2tan¢g = 0. 3]
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2.

(a) Show, by counter-example, that the statement
‘If x is an acute angle then sin(x + 30°) > sin x’
is false. [2]
(b)  Find all values of 6 in the range 0° < 8 < 360° satisfying

15cosec? + 2 cot® = 23. [6]
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2. Find all values of 6 in the range 0° < 6 < 360° satisfying

8tan2@ — Ssec?0=7 + 4sech. [6]
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2.

(a) Find all values of 6 in the range 0° < 6 < 360° satisfying
7 cosec?® —4 cot20 =16+ 5 cosec 6. [6]
(b)  Without carrying out any calculations, explain why there are no values of ¢ in the range
0° < ¢ < 90° which satisfy the equation

4 secp+ 3 cosecp = 6. [1]
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(a) Find all values of 6 in the range 0° < 6 < 360° satisfying

3 cosec @ (cosecB—1) = 5 cot?6-9. [6]

(b)  Find all values of ¢ in the range 0° < ¢ < 360° satisfying

2 cosec¢ + 3 secd = 0. [3]
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(a) Find all values of @in the range 0° < 0 < 360° satisfying

6tan20— 6 = 4sec?0+ Ssecé. [6]

(b)  Find all values of ¢in the range 0° < ¢ < 360° satisfying
3secg+ Stang =0. [3]
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2.

(a) Find all values of 6 in the range 0° < 6 < 360° satisfying
3cosec?6 + 6¢cotd = 8 — Scot?6. [6]
(b)  Without carrying out any calculations, explain why there are no values of ¢ in the range
0° < ¢ < 90° which satisfy the equation

sec¢ + 2tan¢ =0-8. 1]
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3.

(a)  Show, by counter-example, that the statement
cot> @ =1 + cosec’ 2]
is false.
(b)  Find all values of 8in the range 0° < 6 < 360° satisfying

) [6]
10 sec’6= 11 tan 6+ 16.
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2.

(a)  Show, by counter-example, that the statement
tan26 =2 tan6
is false.
(b)  Find all values of 6 in the range 0° < 0 < 360° satistying

4 cot?@= 11 — 4 cosech.

(2]

(6l
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2.

(a)  Show, by counter-example, that the statement
cos (a+ b)=cos a+cos b
is false. 2]
(b)  Find all values of 6in the range 0° < 6 < 360° satisfying

7 —sec’0 = tan’0+ tan 6 . [6]
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2.

(a) Show, by counter-example, that the statement
0836 =3 cos’@— 4cosf
is false. 2]
(b)  Find all values of 8 in the range 0° < 6 < 360° satisfying

tan 20 + 2 secO=17. [6]
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2.

(a)  Show, by counter-example, that the statement

cos20=1-2cos> 6
is false.

(b)  Find all values of 8 in the range 0° < 6 < 360° satisfying

cot?’0="7 — 2cosech.

2]
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